EE)

EHLH ARFEARAEEEE2HI LA —BHEETEMEREER
ZEERRE
WEREEHKE ¥5, 991, 700~ CHEBIELE ¥544, 700~ )
BT ME ¥b, 447, 000~
EBME A= ud —=
BEEARR —=
ANEHF R —=
yyFYyoy =gl

Z Db EERAR —=




KRFERRAREELE 2HI LA —RBETRMEREES

wES
£ b b3 Z o = B Ofr & ] fm £
2 BEEA BB i it 3,073, 580
b BMEE BB i i 252, 200
i 3 ah 3, 325, 780
¢ mmsmazpa | BoEEAR. 1 % 266, 531
n T jﬁg’abﬁfc ) 3,592, 311
d - BEBESEEZ i 2 1, 854, 689
" axgmay s 40,00
B OB OB OB o4 10% 1 i 544, 700
& 3| mERELBE 5. 991, 700




KRFERRAREELE 2HI LA —RBETRMEREES

# i FES % B2 Bifs Hifff Erctl w5
A BEEREE

R—=Ury (EER)
¢ 66mm 84.0 m 11, 400 957, 600
¢ 86mm 0.0 m 0 0
¢ 116mm 56. 0 m 16, 800 940, 800
BREBARR 134 =l 6,130 821, 420
A REA S ER 2 ] 61,700 123, 400
HyoIYvy T 2 ¥ 33,700 67, 400
HyoFyvy U= 2 ¥ 22,700 45, 400
B2 FY Y OB Y% 0 ¥ 0 0
Z DA ERAR 1 = 107, 560 BARBAME
HBIERT —2 N —X I 5 * 2 000 10, 000

EHRTDIEHOREE

/I = 3,073, 580




KRFERRAREELE 2HI LA —RBETRMEREES

% Zi HE % 8 BAL B o "E
bEEREE
HERE 1 = 32,600 32,600
WA AR REET 1 = 54, 000 54, 000
ERBEHE 4 =] 41, 400 165, 600

N it 252, 200




KRFERRAREELE 2HI LA —RBETRMEREES

% i e w o | B B4 &8 %
R A&
ENLERBS

THF OEERE 0 | mm 0 0
LOEKLHE 0 | mm 0 0
LORMEERR 0 | mm 0 0
EwHB 2 | wm 38, 000 76, 000
—HERRE 2 | wm 7,800 18, 600
SHERRR (UU) 0 | mm 0 0
LOHERR 0 | mm 0 0
LORMERRHER 0 | mm 0 0
LOBERRHR 0 | mm 0 0
LOM S EHEHE 6 | mn 2, 660 15, 960
BUBEARR —EER 0| @ 0 0
HECBRHE et S 0 | & 0 0
TEATE 1 = 0
TREWRG il 0
—Et ABTHER & 0
BYEL=HRER e 0

ALY EANRER e 0

Bl K EE R B - 0
(P s % B)

BB OB OB oM ® & 0

A it 107, 560




